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316h7| Ml A— | 53] 50| 103 |27.2| 75.8 35107 1A Ha 46| 43| 89 |[12.8| 76.2 3867 | Pk | 49| 50| 99 |22.4| 76.6

317hL| 4l MEEE | 54| 57| 111 |35.2| 75.8 3627 | Py 1EMK | 55| 58| 113 | 36.8| 76.2 38THL| fELE H— | 44| 55| 99 |22.4| 76.6

I8NL| #aA A | 52|51 103 |27.2] 75.8 3530L| A e | 46|51 97 [20.8] 76.2 388N | ITHE BE |46 53| 99 |[22.4| 76.6

319hr| M {E3%E |44 43| 87 |11.2]| 75.8 35afr| M fE |47 50| 97 |20.8] 76.2 3897 | BédE A | 44|55 99 |22.4| 76.6

3200 | B PRz | 47| 40| 87 | 11.2| 75.8 |7 V-venERa v s 7155 (3, 000M) | | 3650 | kiFE  EtFe [ 50| 55| 105 | 28.8] 76.2 Bkl (3, 000H) 39007 | AN 5% |42 41| 83 | 6.4 | T76.6 |7 V-venE R b EEEERE 715 (3, 000])
21| F#e 1Fdh |44 43| 87 |11.2] 75.8 35607 | FBJIl ELA |41( 48] 89 |12.8] 76.2 39| #H FE |43[40| 83 | 6.4 | 76.6

32207 | FE)Il A |44 43| 87 |11.2| 75.8 357A7| (i Angh | 40| 41| 81 | 4.8 | 76.2 39207 | ¥ T | 44| 47| 91 | 14.4| 76.6

32307 | B = | 58] 53| 111 |35.2| 75.8 36807 | /AR fE | 53] 52| 105 |28.8| 76.2 39307 | ¥EEF LW | 47| 44| 91 | 14.4| 76.6

324h7|  BE #E | 54]49] 103 |27.2| 75.8 3/ B Ah |42]47| 89 |12.8] 76.2 3947 | i B | 47| 60| 107 |30.4| 76.6

32507 | HiE %z |43 44| 87 |11.2] 75.8 B IR ES% (3, 0001) 36007 | /AR Fnge |38 43| 81 | 4.8 | 76. 2|0 1y v e 705 3, 000m) | [ 39507 | B BJe [51]48] 99 [22.4]| 76.6 HIs RS (3,0000)
3260 | 4H f&Sr |46 41| 87 |11.2| 75.8 36107 | @ ME [44|45] 89 |[12.8| 76.2 396 | ZpE g | 57[ 50 107 [30.4| 76.6

327hr| WEHE Th [36]43| 79 | 3.2 75.8 36207 | FimE  HEsE | 50| 47| 97 | 20.8] 76.2 397THL| B BE | 44| 47| 91 | 14.4| 76.6

328hr| FgM  K#f | 51] 52| 103 |27.2| 75.8 36307 | Hkf #5J) | 48] 49| 97 |20.8| 76.2 398hL | EAT| 51| 48| 99 |22.4| 76.6

3200 | REyE fEE] |59 52| 111 |35.2] 75.8 364fr| IS 24T |44 50| 94 | 17.6| 76.4 3990r | AR —F | 5461|115 |38.4| 76.6

3300Z| LIl EE | 43| 44| 87 | 11.2]| 75.8|7 )-verRidaT wEEER 705 (3,000M) | | 3650%| HL FHME 47| 47| 94 | 17.6| 76.4 BRI /7% (3, 000H) 40067 KKE 5 |[58| 57| 115 [38.4] 76.6| 5,000 7 L —4fiBh% 1k
3P| Ve 5% | 45( 47 92 |16.0] 76.0 3660 /hHE Ze— | 5250 102 | 25.6| 76.4 40107 | - Wz 54| 53| 107 [30.4| 76.6

332hr| KBY  EEME |49 51| 100 | 24.0| 76.0 36THL| ANHE 5 | 4244 86 | 9.6 | 76.4 40207 | AHHE  Fnif | 44| 47| 91 | 14.4| 76.6

333NL| MAM A |49 51 [ 100 | 24.0| 76.0 |/ )-vemhfa pRAERE 705 (2, 000/) | | 368Nz | Jo)Il BiR [ 46| 48| 94 | 17.6]| 76.4 40307 | BFAF FIA 53| 54| 107 [30.4] 76.6

334h7| SR 3k |47 45| 92 | 16.0| 76.0 36907 | AHtE M | 46| 48| 94 | 17.6| 76.4 40407 | KiE Foth (42149 91 | 14.4]| 76.6

33507 M B— [49| 51] 100 | 24.0| 76.0 HkIB AR (3,0000) 37007 | 4% ffi— [49[ 53] 102 | 25.6| 76.4 |/ )-vevEma vEssEms 705 (3,000 | | 40507 | oA 4 (40| 43| 83 | 6.4 | 76.6 FE R R (3, 000H)
3360 | AW fh— [51| 57108 [32.0] 76.0 STINL| 1M 72— | 45(49] 94 |17.6]| 76.4 40607 | 3ETE P (46| 45| 91 [14.4] 76.6

337h7| il % | 53] 55| 108 |32.0| 76.0 3720r| WA e | 47]47| 94 |17.6| 76.4 407hr | 1EAK £ [50] 57 107 | 30.4| 76.6

338AL| WA fhim | 48[ 44| 92 |16.0| 76.0 373N B vF | 45(49| 94 | 17.6| 76.4 40807 | A JEHY |37 46| 83 | 6.4 | 76.6

33907 | At Bk [ 48|60 108 [32.0] 76.0 37| Rel iEth |52 58| 110 |33.6] 76.4 4090 | =4~ H  EZ|55| 52| 107 [30.4] 76.6

340fi7| ®H FEE 46| 54| 100 [24.0] 76.0 |/ )-venERma vEsEE 7% 3, 000m) | | 37507 | K& it [45( 41 86 | 9.6 | 76.4 BRI A (3, 000M) 41067 | /L G [ 50| 54| 104 [ 27.2] 76.8|7 )-venE R vaESEE 75 (3, 0001T)
34107 /NI B | 55] 53] 108 |32.0] 76.0 3767 | 2B B | 48] 46| 94 |17.6| 76.4 A1INE | KA Ml [ 51] 53] 104 | 27.2] 76.8

34207| A Th |46]46] 92 |16.0| 76.0 37Thr| Fi 1ML [45])49] 94 | 17.6]| 76.4 41207 | fnpgE 2% (47149 96 | 19.2] 76.8

34307| HEEE W | 58] 58| 116 |40.0| 76.0 378hr| SEill Filth | 48] 54| 102 | 25.6| 76.4 41367 W %k [50] 54| 104 |27.2] 76.8

34407 | Bl BT 48] 44| 92 | 16.0| 76.0 3TINT| fEHE F 47| 47| 94 | 17.6]| 76.4 A1407 | A FokE [46]50] 96 | 19.2] 76.8

34507 | FHh REE |47]45] 92 [16.0| 76.0| < HEBISEFEZ(3,000M) 38007 | L FE— | 40| 46| 86 | 9.6 | 76.4 |7 )-verERa pEssEsE 0% (3, 000/ | | 41507 | FHE  EfE [49( 47| 96 [19.2| 76.8|  HBEIsAEES (3,000M)
34607 | L ik | 58] 50| 108 |32.0] 76.0 38INL|Mex AR —HE| 50| 52| 102 | 25.6| 76.4 41607 | KA s [50] 54| 104 | 27.2] 76.8

347R7| (L Rl | 50 47| 97 | 20.8| 76.2 3827 | iH JEF- |51 51]102 |25.6| 76.4 41707 /N H 5458|112 |35.2] 76.8

48| W Bk | 46|51 97 |20.8] 76.2 383NL| A fEFn [45[49| 94 |17.6| 76.4 418QL| g 7% [47[49] 96 |19.2] 76.8

3490 | 2= Rk 47|50 97 [20.8] 76.2 384N | /B {E TER| 45| 57| 102 [ 25.6] 76.4 41907 [ REAR W[ 46| 50| 96 |[19.2] 76.8

35007 | i B [43] 38| 81 | 4.8 | 76.2| 5,000/ L—#iBhE 14k 3857 | /e vERA | 52| 55| 107 | 30.4| 76.6 IS (3,0001) 42067 | FESH v [39]41] 80 | 3.2 | 76.8 |/ U-venEEa p A 7H5 (3, 000)




gz K 4 |out| IN |7 = =[HDCP | > R B NEfT K 4 |our| IN|Z = =[HDCP | v K B I K 4 |out| IN|Z = | HDCP [F > k H o

42107 iy BeaE (48] 48| 96 [ 19.2] 76.8 45607 4K JH— |46( 52| 98 [20.8] 77.2 Y9I | TN KZFET| 50 53| 103 | 25.6( 77.4

422/7 B A | 43] 45| 88 [11.2]| 76.8 4577 | FnE 1 [48] 50| 98 [20.8] 77.2 49207 | kG —1= [ 51| 52| 103 [25.6] 77.4

42307 Kk Fe% | 43|53 96 |19.2] 76.8 4580 | fEfE == [ 5147 98 [20.8] 77.2 4930 | B sz (4245 87 [ 9.6 | 77.4

42447 WEIR  viFH |46 50| 96 | 19.2] 76.8 45907 | JEER ffi— [47] 51| 98 [20.8] 77.2 49407 | AR 572 [ 51|44 95 [17.6] 77.4

425(f. BH 50| 46| 96 |[19.2] 76.8 Hkis g% (3, 000H) 46007 | HKS | 52|54 106 | 28.8| 77.2 |7 -venERa v ESEE 78 (3, 000M) | 1495067 RE O [ 52 56| 108 |30.4| 77.6 Hds /g% (3,0000)
42607 P E | 52| 52| 104 [27.2| 76.8 46147 TN {55 | 54| 62| 106 |[28.8] 77.2 49607 | W —f |61|55[ 116 |38.4| 77.6

42707 Fuilr 35— [45] 43| 88 [11.2] 76.8 46207 | /NfE Zg5L [61] 53] 114 | 36.8] 77.2 4977 FHL Z8Bh | 55| 61 116 |38.4| 77.6

42807 | wiE  FHHE | 4749 96 |19.2] 76.8 46307 | R L x|51|47| 98 [20.8] 77.2 49807 KA EAT 46|46 92 | 14.4| 77.6

42007 AEBR ) | 44| 44| 88 | 11.2] 76.8 46407 | 4 fds [50] 56 ] 106 | 28.8| 77.2 49907 | KiE BRI [49] 59| 108 | 30.4| 77.6

43007 B4 B | 54| 58| 112 [ 35.2| 76.8 |7 )-verRmMa i ERSEE 71 (3, 00000) | | 46507 | HAF A | 44| 46| 90 | 12.8] 77.2 HRFBRESR(3,000M) 50067 | (Ligs F2E | 4349 92 |14.4| 77.6| 5,000 7 L —HiBh 1
43107 & S | 53[ 56| 109 |32.0 77.0 46607 /MK ¥ =] [ 55| 51| 106 [28.8] 77.2 50107 | 2B #Z |47 45| 92 | 14.4| 77.6

43207 | ¥EE  HRSE | 53] 56| 109 [32.0[ 77.0 467H7| Ky Foth | 45( 45| 90 [12.8] 77.2 50207 | 1%AFL FnigE | 44| 56| 100 | 22.4| 77.6

43307 ¥ sEsE [ 50 51 101 [24.0] 77.0 4687 =k 32 |[48]58] 106 |28.8| 77.2 5030r| X flith | 48| 44| 92 | 14.4| 77.6

AB4RT|1IIH b rm 48] 53] 101 |24.0| 77.0 46907 | B BERE [41]49] 90 |12.8] 77.2 5047 | e 1A | 47| 45| 92 | 14.4| 77.6

43507 Sl 3L [ 5958 117 [40.0] 77.0 BRI RS (3,0001) 47007 | wER 5 [ 4751 98 | 20.8| 77.2 |/ 0-venRma v 7h5% (3, 000 | | 50507 | #eiE —22 | 58| 50| 108 [30.4] 77.6 HkIs SR (3,0000)
4360L /PR N7 |40 45| 85 | 8.0 | 77.0 ATINL| R ASE [40]50] 90 |12.8] 77.2 50617 | )l —& | 45| 47| 92 | 14.4| 77.6

43700 EAR  wc | 53| 48| 101 |24.0] 77.0 47207 [ /K Fots [ 50| 56 | 106 | 28.8] 77.2 507hr| &k H |44 48| 92 |14.4| 77.6

43807 | wnEF FIE [49] 52 101 [24.0] 77.0 ATNE| e MAy [ 4545 90 | 12.8] 77.2 5087 | fdk FW | 50| 42| 92 | 14.4| 77.6

43907 AR B [47] 46| 93 [16.0] 77.0 ATARL | AFS HESS | 49( 49| 98 [20.8] 77.2 50907 | (L {2z | 4547 92 | 14.4| 77.6

44007 KIR TEE [41] 44| 85 | 8.0 | 77.0 |/ )-venEmMa pEESERR 7135 (3, 0001) | | 47507 [aTER AZE | 49| 57| 106 [ 28.8| 77.2 BB REFEZR(3,000M) 5100 | K& Wl | 51| 49| 100 |22.4| 77.6 |7 V-vewnEm= v {EH5ERE 715 (3, 000H])
44147 T IEB [41]52] 93 [16.0] 77.0 476h7 | S sk [46]57] 103 | 25.6| 77.4 51107 | PakS  321R | 48| 52| 100 | 22.4| 77.6

q42fr | Abkt SeEl (48] 45| 93 [16.0] 77.0 ATTIL| FRAK  #kfe | 49| 54| 103 | 25.6| 77.4 51207 | i &1 |46 46| 92 | 14.4| 77.6

44307 /M0 BAEL | 42] 43| 85 | 8.0 | 77.0 47847 kb & | 50| 53] 103 |25.6| 77.4 5137 4hL W | 43| 49| 92 | 14.4| 77.6

44407 | R B [ 50 59| 109 | 32.0| 77.0 [/ )-venRERia nRAEE 70 (2, 000/) | [ 47907 | B %— [ 54| 49| 103 [25.6] 77.4 514h7| Fam  #£ | 53| 52| 105 |27.2| 77.8

44507 WF ez [42] 51| 93 [16.0] 77.0 H kI A F (3, 000M) 48047 | ALl f&— [ 52| 51| 103 [25.6| 77.4 |7 )-venERa wEssEE 705 3, 000M) | [ 51667 | FJE 8L [46| 51| 97 [19.2] 77.8 HIs RS (3,0000)
446hr| B #E | 51[50([ 101 |24.0| 77.0 A8IAL| /MR =2 | 49| 64| 103 [25.6( 77.4 51607 | Tk HME [ 48149 97 |19.2] 77.8

447Rr [ I s [49] 52| 101 [ 24.0] 77.0 48217 | Vg SFN | 49( 46| 95 | 17.6] 77.4 SITAL| P& #fi— [ 50| 47| 97 |19.2] 77.8

44807 | WD 54T | 57|52 109 |32.0| 77.0 48367 Fm A 38|41 79 | 1.6 | 77.4 5187 (M AR | 53| 52| 105 |27.2| 77.8

44907 | REA fhith | 47| 54| 101 [24.0| 77.0 48407 EJII 5P | 48| 55| 103 | 25.6| 77.4 51907 | &A% 1E— [48]49| 97 |19.2] 77.8

45007 | BFRF IEE | 49| 52| 101 [24.0| 77.0| 5,000/ L —HBIE 14k 4850 | N gLkl 47| 48| 95 [ 17.6| 77.4 HkB RS2 (3,000M) 5207 | g BE | 51|46 97 | 19.2| 77.8 | )-verEl R 75 (3, 0001)
45107 AR 8L | 48] 53] 101 |24.0| 77.0 48607 (R W= 42|45 87 | 9.6 | 77.4 5210 | HEIRE] A | 45| 52| 97 |19.2 77.8

4520 | WkE  —1= [ 52 49| 101 [24.0| 77.0 A8THL| HL BeFl |46 49| 95 | 17.6| 77.4 5o2fr| (i ESC | 49| 48| 97 |19.2]| 77.8

45307 B e | 47| 46| 93 [16.0| 77.0 488fr | #TIR W=z [ 57| 54| 111 [33.6] 77.4 52307 | FLil IEAT [ 50| 55| 105 |27.2] 77.8

45407 [ Full RE-| 57 [ 52 109 | 32.0] 77.0 48907 | HAS #Ar | 51| 44| 95 [17.6| 77.4 S2ANT | KIME  B&TR |48 49| 97 |19.2] 77.8

45507 FEE BE— (49| 57| 106 [28.8] 77.2 BRI RS (3,0001) 49007 | B9 HE [ 38|49 87 | 9.6 | 77.4 |/ )-venRERma v 7h5% 3, 000 | [ 52507 FII =7 [ 56| 57| 113 [ 35.2] 77.8 HkIs /&SR (3,0000)




gz K 4 |out| IN |7 = =[HDCP | > R B NEfT K 4 |our| IN|Z = =[HDCP | v K B I K 4 |out| IN|Z = | HDCP [F > k H o

52607 | g ¥ | 55] 50| 105 |27.2| 77.8 561A7| ZEM B |41]42| 83 | 4.8 78.2 5O6N7| RAFE B | 41| 47| 88 | 9.6 | 78.4

527z | Bl —H| 149 56 [ 105 | 27.2] 77.8 5620 | 4N A | 53| 54| 107 [28.8] 78.2 597NL| JEAK HESC |46 50| 96 | 17.6] 78.4

5287 |5  HIZET| 49| 48| 97 |19.2] 77.8 56307 | whir BE [47[44] 91 [12.8] 78.2 598fir| “FH & | 52| 52| 104 |25.6| 78.4

5207 | IR BAT- |44 45| 89 |11.2| 77.8 564hr| Z¢iE BAF | 46| 53| 99 | 20.8[ 78.2 5997 | &HF s | 50| 54| 104 | 25.6| 78.4

530A7| Il T | 45[ 49| 94 | 16.0| 78.0 |/ )-venEma a7 (3, 000/ | | 56567 B EAT [ 49| 50| 99 | 20.8] 78.2 Bkl (3, 000H) 60007 | J\AK (5 |49 52| 101 |22.4| 78.6| 5,000~ L —#iBh% 14
53| &k —% | 55[ 55| 110 |32.0| 78.0 56607 | P BAEZ | 51| 56| 107 |28.8] 78.2 601 |4 EH1| 53| 56| 109 [30.4| 78.6

53207 | #EH: BE— | 57| 53| 110 |32.0| 78.0 567hr| WEIR A5 | 58| 49| 107 |28.8[ 78.2 60207 | ¥ =W | 52| 57109 |30.4| 78.6

533fr| Ml Ek |42[44| 86 | 8.0 78.0 5680 | AU E2 | 55( 52| 107 [28.8] 78.2 603Nz | BB @Z 58| 51 109 [30.4] 78.6

534fr| -+ 1 | 50|52 102 |24.0] 78.0 56907 | S T | 60| 55| 115 |36.8| 78.2 60407 | dbAT bWl [46] 55 101 | 22.4| 78.6

53507 | iy o |59 59 | 118 | 40.0| 78.0 B IR ES% (3, 0001) 57007 | Mt Ak |51 48| 99 | 20.8| 78.2 |0 i-venEmma v e EE 705 (3, 000m) | [ 60507 | kG B [59] 58| 117 |38.4] 78.6 HIs RS (3,0000)
536A| P FE— | 47]55] 102 |24.0| 78.0 STINE| AR BHT- |42] 49| 91 |12.8] 78.2 6060 #4°PNMH  BH [43]42]| 85 | 6.4 | 78.6

S3TAL| kil —H1 | 49|45 94 |16.0] 78.0 S57T10r| Akl BT | 43| 48| 91 | 12.8] 78.2 607(7| M %2 | 54|47 101 |22.4| 78.6

538(L| FAJR SEA | 46| 48| 94 | 16.0] 78.0 57307 | W4 Eprd | 48[ 59| 107 [28.8] 78.2 608N | MM Fnsl (42|43 85 | 6.4 | 78.6

53907 | I F5 [49| 53] 102 [24.0] 78.0 S5TANL| faidf Fesb [ 37| 46| 83 | 4.8 | 78.2 6090z | /MK #=] [ 51| 58| 109 [30.4] 78.6

54007 | 1eiE F5% [ 54 56| 110 |32.0| 78.0 |/ )-venER=" prE8s8% 705 (3, 000M) | | 57502 /KkiE B |50 54| 104 |25.6| 78.4 kIS4 (3,0001) 61007 ®H T [57[52] 109 |30.4]| 78.6 |/ )-verEa v E%E% 71% (3, 000F9)
54107 | REM FsL | 4747 94 | 16.0| 78.0 576hr| +M FFB | 52] 52| 104 |25.6| 78.4 611N | /M #8de [46] 55 101 | 22.4| 78.6

Bafr |ex AR #A|51]43] 94 | 16.0| 78.0 STTHE| #h4y B | 52| 52| 104 |25.6| 78.4 612/ | &H Fnz [46]55] 101 |22.4]| 78.6

54307 | Ml ez |42]52] 94 | 16.0| 78.0 578hr| I FI%k |50 46| 96 | 17.6| 78.4 61307 | MG HE [48]|45] 93 |14.4| 78.6

S44hr| AT TEPA | 48] 46| 94 | 16.0| 78.0 57907 | ¥ 1EZE | 48| 56| 104 |25.6| 78.4 614h7 | I =+ [54]55] 109 |30.4]| 78.6

54507 | ML A | 56] 46| 102 | 24.0] 78.0 HkIB AR (3,0000) 58007 | Hikf At |52 52| 104 | 25.6| 78. 4|7 1vevEma v e g 705 (3, 000m) | [ 61507 | AAF: JEBH (44|41 85 | 6.4 | 78.6 HkIs /&SR (3, 000M)
54607 |faiH: A7 56| 62 118 [40.0] 78.0 SINZ| 1l fnfd [ 44| 52| 96 [17.6| 78.4 61607 F)Il . | 46|47 93 |14.4| 78.6

S547THr| MEyE B\ | 47[47( 94 |16.0| 78.0 5820 | BFIFF 4R [ 54| 50 | 104 [25.6] 78.4 617h7| #m)Il 47| 62| 109 |30.4| 78.6

548M7| =i Eith |46] 48| 94 |16.0| 78.0 583fr| WTAE —& | 49| 55| 104 |25.6| 78.4 618(i7| #fL # |56|58| 114 |35.2] 78.8

549N | & % [46| 48| 94 [16.0] 78.0 584 | B FhE | 51| 53| 104 | 25.6] 78.4 61907 | 2B fE— | 4149 90 |11.2] 78.8

55007 | &4 3t | 53|57 110 [32.0] 78.0| 5,000 L —#BhE 1k 5850z | k& A | 53|51 104 [25.6] 78.4 BRI A (3, 000M) 62007 | HkF #H 42| 48| 90 |[11.2] 78.8|7 )-venE R vEsEE 7% (3, 0001T)
5510 | B4 BB | 5143 94 |16.0] 78.0 586N | EiE IEM |46 50| 96 | 17.6| 78.4 62107 | BJII FE— | 5955|114 |35.2] 78.8

5o2fr| Mg Mt |45] 46| 91 | 12.8| 78.2 5RTHT| ER IE— | 5153|104 |25.6| 78.4 62207 | FHHE % | 59| 55| 114 |35.2] 78.8

5530 | M BEYR |47 52| 99 |20.8| 78.2 5887 | (L AT | 44| 52| 96 | 17.6| 78.4 62307 | &)l it [ 54] 52 106 | 27.2] 78.8

55407 | P R | 53] 54| 107 |28.8| 78.2 589N | HM FF |47 49| 96 |[17.6| 78.4 62407 | AZ8F SCJ [ 5452 106 | 27.2] 78.8

55507 | B&d R |55 52| 107 | 28.8] 78.2 HERB R F A (3,000M) 590N |FEA T eS| 47| 49| 96 | 17.6| 78.4 |/ )-verEa o EsEs 7h % (3, 000/ | | 62567 EE M [ 53] 61| 114 |35.2] 78.8 kI A% (3, 000H)
5560 | SR ATHE [47| 44| 91 [12.8] 78.2 SIINL /bR A1 49| 47] 96 | 17.6]| 78.4 6267 | FFAE Hth | 54| 52| 106 |27.2] 78.8

557hr| A B | 48[ 43| 91 |12.8] 78.2 5920 | S #AT |47 57| 104 | 25.6] 78.4 62707 | “HiM P (41|49 90 [11.2] 78.8

5o8fir| AEfE Fk | 49( 50| 99 |20.8| 78.2 593fr| 2% f& [40[48| 88 | 9.6 | 78.4 6280 | &t JEHF (57|57 114 |35.2] 78.8

550 | MY fRZFE |40 51| 91 |12.8] 78.2 59407 | fr¥lx &1 | 4444 88 | 9.6 | 78.4 62907 | JIIE —Z | 48[ 50| 98 |19.2] 78.8

56007 1Lt Fofd [ 50 49| 99 | 20.8| 78.2 |/ )-venERa o ESSEE 705 (3, 000/0) [ | BISAL| S ASE |45 51| 96 | 17.6| 78.4 IS (3,0001) 63007 | /NER i | 48| 50 98 | 19.2| 78.8 |7 -venElEaT b RS EE 715 (3, 0001)




gz K 4 |out| IN|Z = =[HDCP | > R B g7 K 4 |our| IN[Z = =[HDCP | % > R B I K 4 |out| IN|Z = | HDCP [F > k H o

63| 47 5 |44]62]106 |27.2] 78.8 66607 | FkE 1EZ |45 47 92 | 12.8] 79.2 |/ V-venE R v ESSEE Th (2, 0001 | | 701467 AT #E4 |43 51| 94 | 14.4] 79.6

6320 | 7HEF (54T [46]49| 95 | 16.0| 79.0 667hr | &% W7 53| 55| 108 |28.8[ 79.2 70207 | Py - |41| 45| 86 | 6.4 | 79.6

6330 | vhEF {E4T | 51| 52| 103 |24.0] 79.0 6680 | AEA Mt | 46| 54| 100 [20.8] 79.2 7030 % i |46 56| 102 | 22.4] 79.6
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